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1. Average velocity is equal to the total displacement of the object from its starting point
divided by the time it took the object to get there. It only accounts for when and where
the object started its movement and where and when the object stopped its movement. It
does not look at anything that happened in between the start and finish. Anything could
have happened in the middle, including stopping.

The instantaneous velocity is the velocity at a specific point in time. Therefore it could be
zero and the average velocity could be non-zero.
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